Differentiation

2013
Q2 — 3 marks
Differentiate f(x) = ¢“**‘sin’x.
Written Solutions
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2012
Q1 -7 marks

(a) Given f(x) = At 3

, obtain f’(x).

2
x”+1

(b) Let g(x) = cos’x exp (tanx). Obtain an expression for g’(x) and simplify your
answer. +

Written Solutions
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2011
Q3b — 3 marks
3

(b)) Given f(x) = sinx cos’x, obtain f{x).

Written Solutions
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Q7 — 4 marks

A curve is defined by the equation y= m forx <1
Ji-x

Calculate the gradient of the curve when x = 0.

Written Solutions
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Q1 - 6 marks

Differentiate the fo
(@) f(x) =€ sinx?
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Written Solutions
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Qla -3 marks

(@) Given f(x)= (x + 1)(x - 2)*, obtain the values of x for which f/(x) = 0. 3
Written Solutions
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Q2a -2 marks

(@) Differentiate f(x) = cos™ (3x) where —t<a <1,

Written Solutions
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Q15 -9 marks

Let f(x) = lan for x> 1.

2,2

(a) Derive expressions for f'(x) and f"(x), simplifying your answers.

(b) Obtain the coordinates and nature of the stationary point of the curve
v = flx).

(¢) Obtain the coordinates of the point of inflexion.

Written Solutions
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Q2a — 3 marks

Obtain the derivative of each of the following functions:
(@) f(x)=exp (sin2x);

Written Solutions
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